Pos EnnDingo%m Amourfgl(ercnfni?n L((Er:gwf)h
001 o e ’ a W 8 | 70x135 | 5400
002 o . ! = — 0 11 70x135 | 5400
003 =t o y = o 1| 70x68 | 5400
004 [t e y e — 1] 70x68 | 5400
005 | o =n Be : o F 1| 70x68 | 536k
006 o 2 - 1| 70x135 | 5340
007 o T - 1| 70x135 | 5340
008 = 2 y 2 = 2 | 70x135 | 5340
009 s T i 1| 70x135 | 5340
010 o e {0 1] 70x135 | 5340
011 o - ’ e {0 17| 70x135 | 5340
012 L ’ o ’ 2 | 70x135 | 5000
013 ’ ’ 1] 70x135 | 5000
014 ’ ’ 1| 70x135 | 5000
05 | o — : = F 1| 70x68 | 4128
016 o = |: 2 | T0x135 | 4099
017 o . ——— Lo T0x135 | 3620
018 Sy s — 2 | 70x135 | 3327
019 e — 1] 70x135 | 3327
020 - ‘ ‘ — 1] 70x135 | 3327
021 | 5§ on bB s 11 70x94 | 2835
022 o = 0 Lo| T0x135 | 2835
023 o = S 1| 70x135 | 2835
024 ey oe p 1] 70x135 | 2799
025 B -t |: 1| 70x135 | 2799
Code  Ennis+ 190109 Material File  Ennis_ 190709.dwg Sheeft 1/5




Fos EnnDizwgogm Amourfgl(er?ni?n L((Er:gwf)h
026 o - e 15 | 70x135 | 2325
027 — fe {0 16 | 70x135 | 2215
028 | o {0 15 | 70x135 | 2215
029 s - N 1] 70x135 | 2040
030 o 18 o 16 | 70x135 | 2040
031 P 0 1] 70x135 | 1870
032 - . 1] 70x135 | 1857
033 = b . 2 | 70x135 | 1857
034 — . 1| 70x135 | 1857
035 L 1] 70x135 | 1675
036 y 1] 70x135 | 1675
037 v 2 | 70x135 | 1675
038 | o ion e ; 1] 70x68 | 1534
039 | o i=n Ces , 1] 70x68 | 1534
040 o e —] Lo| 70x135 | 1270
041 | o o 1| 70x68 | 1234
042 ———n 1| 70x135 | 1033
043 T T | 70x135 | 970

0L L — 14| 70x135 | 800

045 e 1] 70x68 | 765

046 o 16 | 70x135 | 765

047 —0 1| 70x135 | 620

048 o 1| 70x135 | 620

049 . 9 | 70x100 | 411

050 &0 1] 70x135 | 299

Code Ennis+ 190109 Mafterial File Ennis 190109.dwg Sheet 2/5




Drawing Section |Lengfh
Pos Ennis+ 190109 Amountt =y | (mml
051 o 2 | T0x68 | 270
052 o0 28 | 70x135 | 270
053 —_ 8 | T0x63 | 257
054 — 9 | 70x56 | 230
055 Lol 11 70x51 | 207
Extra o L 1] 70x135 | 6000
Floor beam
Fh1 . . 15 | 48x48 | 4928
Floor beam
Fb5 . . L | 48x48 | 3205
Floor beam
Fb3 . . 1| L8xL8 | 2422
Floor beam
Fbk . . 6 | 48xL8 | 1675
Floor beam
Fb? — L L8xLE 2572
Post
P 2 | 120x120 | 2065
Framing
FZ [ ] 1 28)(70 910
Framing
F1 — 7 28x70 800
Framing
F3 —— 1 728x70 730
Purli
PR1 | ITH 1230 0 2455 : 2 | 70x145 | 4100
Purli
PRS | 1 ITH 1230 0 ik : 2 | 70x145 | 4100
Purli
PR3 | g f_OOH 1230 0 285 : 11 70x145 | 4100
lin
PR2 | 149 — ﬁ 2 | 70x1L5 | 2800
lin
PR6 | g 249 ﬂ 2 | 70x145 | 2800
lin
PRL | g 2495 ﬂ 11 70x145 | 2800
Floor board 2/, | 1k | 113x28 | 2491
Floor board 2/, | 16| 113x28 | 1L91
Floor board 2/ | 16| 113x28 | 926
Roof board 200 % | 1261 113x28 | 2860
Code  Ennis+ 190109 Material File  Ennis 190109.dwg Sheef  3/5




nos EnnDizwgogm Amourfgl(er?ni?n L((Er:gwf)h
Floor slaf § 18x40 | 38.03
Eaves board % 70 | L | 18x95 | 3450
Eaves board support T | b 18x L0 3450
Gable board | | 4 | 18x145 | 2900
Gable tap /B 18x70 2900
R Rod M8 V IV 1000
R2 Rod M8 : 16 295
R3 Rod M8 V 2|2 2770
R4 | Rod M12 2 810
Nut M8 © |16
Nut M12 L
Washer M8 (©) | 16
Washer M12 L
Connector M8 10O | 12
MB Assembling piece 3 710x60 500
MP Metal Pipe @ 12mm . o | 2 1970
Connecting Belt (for Purlins and Wall beams connections) 2.0.0,0.0.0.0.0.0.¢ | 1 1000
Screw 4,0x50 (for Connecting Belt) — | 50
PF | Post foot mmmIq:iH] 2
Screw 4 5x50 (for Post foof) — | 8

Code  Ennis+ 190109 Material File  Ennis 190109.dwg Sheef L4/5




Drawing Section |Lengfh

Amount

Pos Ennis 190109 (mm) | (mm)

Window 785x910 + side slat seft

|

A\
A\

A\
A\

A\
A\

Window 1585x910 + side slat set

X
X
A
A\

A\
A
A\
A

Window 500x500 + side slat sef 1

Door 900x1960 + side slaf set (left hand) 1

4
4

A
A

Z
Z

A
A

Door 790%x1960 + side slat sef (right hand) 2

Door 720x1960 + side slat sef (right hand) 1

Code  Ennis 190109 Material File  Ennis 190109.dwg Sheef 5/5




200 5140 200
1700 3730
| ~ ~ - 0 N o~
= & & T = o x| 0
LM = @ o
an T
=
< 5
- 19%196 =
® r -
- ot [
[@N oA [@N
= = o 0 2
[a W o / a [a
8.5x91 90196 18.5x9
; i
= R o
5000

©% Enrnis+ 190109

Sheet

1

Drawing P { an

Scale

1:50

Maferial 70><W35

Date

09.01.2019

m

Pesianedd T jindeco

Ennis 190109 dwg




2590

2590

1795 3325
EB1
. o~
N fa)
L - 5
| M -3
FbL FbS -
\EE —
bl FbS -
- O
A A
Fbk - Fb5
O
(-
bl FbS -
\\\\\E -
i || A
i‘ REal i’ O%
: G =t
-
Fb1 -
B
(@A
Fb1 -
-
(@A
Fb1 -
B
(@)
Fb1 -
o
. Eb] 3
5120 <
&

“*  Enpis+ 190109 2
Drawing Ptaﬂ _ FLOOF beam Scale WSO
Material LSXA% Date OQOW2OW9

Pesianedd T jindeco

"¢ Ennis__ 190109 dwg




6700

U3

016

2

P1

2095

15300

002

017

017
0177

017

040
040
040
040

002

002

002

002

002

002

002

002

002

[ T T T T T T T T T T T [ T [ T e

[ T T T T T T T T T T [ [ T ] @

2495

/565

L
)
-
=y
N
=)
)

(T

7363

“*  Enpis+ 190109 3
Drawing Wa“ A Scale WSO
Material 70><W35 Date OQOW2OW9

m

Designed by

Tuindeco

Ennis 190109 dwg




H . 022
H . 022
H . 022
H . 022
H H 023
- 046 052 052
- 046 052 052
H 046 052 052
H 046 052 052
| fhe | e
e g e g e
L (-] L O L
H 046 | 1052 " [ 052
s 046 052 052
s 046 052 052
s 046 052 052
s 046 052 052
- ApbFt | T feqF3 | T B
[ o295 | 800 g 1300 )
10D 77 70100 10070700
1565 1000

% Fnnis+ 190109 T

oSy all B 10
et 7.0x13.5 P 09.01.2019
Pesioned®  Tyindeco "¢ Ennis 190109 .dwg




6700

038

016

P1

1300

945

945

[ T T T T T T T T T [ T [ T [ @

1595

| £o0 ) 650

1595

| &o0

10

2565

2565

00

2363

% Fnnis+ 190109 5

orovms Wl C 10
et 7.0x13.5 P 09.01.2019
Pesioned®  Tyindeco "¢ Ennis 190109 .dwg




—— 17053 053

R1+R1+R2 —rys \%%;3\\04 1:RT.R2Z
05k 0B
i 012
- i 7008
il i 011
Iy i o1
Iy i o1
I i 011
1 i 011
1 i 011
1 i 011
1 i 011
1 i 011
1 i 011
1 i 011
1 i 011
1 i 011
1 i 011
I + ik
Wall 7 T :
N 1700 1 3730 L]
100770 70 707100
1770 3300

(-

5340

2970

Sheet

“%  Frnis+ 190109 ;
Drawing Wa“ W Scale WSO
Material 70><W35 Date OQOW2OW9

Designed by

Tuindeco

"¢ Ennis__ 190109 dwg




T [ [ [ T T T [ [ [ T T [ [ [ T T [\

N N O I

1700

I

-
F—
N\

1770

20L0

00

7835

% Fnnis+ 190109 T

ooy all 2 10
et 7.0x13.5 P 09.01.2019
Pesioned®  Tyindeco " Ennis 190109 dwg




771053053

) 037 y
R1+R1+R2 s 1933 049 R1+R1+R2
B TR | o ooose

N | 771008

HL i 011

H - 026 1028

b i 7
il o S
al o o

gt | ] ()2 6 LA [ 1L ()228

i I 026 = 1 028

gt | ] ()2 6 o~ [ 1] ()228

gt | ] ()2 6 [ 1] ()228

- a 026 -] 028

il a 026 11028

H - 026 -] 028

it iy o
Wall 3 7 F i h -

N 1700 LL385L 800 ] 20L5 L]
100 70 70 70 100
‘ W 7 7 O ‘ 3 3 O O
5340

Sheet

“*  Ennis+ 190109 :
ooyl 3 10
et 7.0x13.5 P 09.01.2019
Pesioned®  Tyindeco "¢ Ennis 190109 .dwg




053053
R1+R1+R2 i \IW%Q\\;049 R1+R1+R2
7054 7019 g5 .
" MP MP 7006
T 010
His 04L 048 048 0L
His 04l 048 048 0L
L O[kli- LN O[|-8 O[|-8 LN [ 1| O[F[F =
H 04l 048 048 0Lk =
H 04l 0438 048 < 0Lk o
H 04l 048 048 0Lk
H 0Ll 048 048 04k
i 027 027
H 027 027
H 027 027
H 027 027
H 027 027
H 027 027
gl 137 F2 NSRTE
WaH Q T 0 L ]
Q630 | 795, 620 | 910 | 620 795 630 |
100 70 70 100
| 5070 |
5340

% Fnnis+ 190109 9

ooy all & 10
et 7.0x13.5 P 09.01.2019
Pesioned®  Tyindeco "¢ Ennis 190109 .dwg




R3

R4

R4

4@5& 5
Oé{iii;;S

11049

1054

1034 049
020

R3
54

71007

— | 009

5340

2075

2970

5070

e Enpis+ 190109 10

orovms a1l 5 10
et 7.0x13.5 P 09.01.2019
Pesioned®  Tyindeco "¢ Ennis 190109 .dwg




